@ 25w = l@;o.,\ I 2 =2 _ 53 TE€E-20160210

Y 4 ad =2 =35 W
T 90“""
. ¥y on z 7§_ = 3L
B = L = it w ) B, D ey, SE=T=s i
= _#0—40D i
Ross = 2y~ h2ik/W _z UZ[ Ed
T =] =2~ Toe ”
Sb’:-]g 'f‘gesﬁ Pb :40+//Z'37,$’:8§t /b) WMSE
TJ&L:E@"/‘ E@Js ' Pcz,/ =J0°c.

R - Yo—~Fo _
815 MJ/Z_'Q ..24/</W

0= Tsy + Regc B, =85 42,4 1575 = 430

— B 28  _ 2
& Up= 25 Vo => D= (1-0) (> D( Ve + Up) =0 > D- \/P—FUB “hot28 2Y7%

ULy = Vi I, 9;5?_” ‘V;IB:%;‘ F =99h

%54"/\4)‘. = Vf*Uﬁ:’ZO"‘-Z? =48V

PR

- Le _7
IB:<4"D)_LL:> I{__; 7:5’ = 7“0/ ey :'1C,87°r

_ ,_f__.z_d’_._
k= ‘fxmx Tprge 48 - 16,8 _2245

Tay -
N —
Va, Ra Teus 4, b et
+ Taz=2Iaq

\/M = Ra - Tay+EMS Vaz=Ra Ta, 4 €EMs
V&” =~P& o +EMs Var= Rq 20
Vag= 50.01 ~50 03=20

02 0,640 + Ems
EMc =14 v

EMs

VQ&:O/Q‘ZD+4?:M£§_.Q

Vaz = 50 T, — S0 D¢z7

Vaz = 100D 5 ~50 = 223

R o o


Nandor
Sticky Note
24%

Nandor
Sticky Note
26V


Nandor
Sticky Note
26V

Nandor
Sticky Note
76	

Nandor
Sticky Note
76%


